CheckPoint

Four charged particles are placed on a y
circular ring with radius 3 m as shown @ ‘

below. A particle with charge Q is placed
in the center of the ring /

What is vertical force on Q7 /
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“Fy should also be zero because the top vertical force cancels out with the bottom vertical
force.”

0

“Since they are all positive, the 3 g's on the bottom exerts a net force that the 3Q charge also
exerts, canceling each other out.”

“2 of the gs in the -y direction dont contribute all of their magnitude to the y direction.”
50 Electricity & Magnetism Lecture 1, Slide 31





